~
=
. S S D
=
Q
S U A o
Q
-
o]

(0 @) (rad)

107 10H]

1072
| I I T L
9 J..UJ_ 9 J..UJ_
T r IS r
nd L nd L
0923 a1 0 1 2 3 0923 a1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__ allNODNN
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ all
- - I—
= = R R R =
2 e :
2 -
> S
5’ e}
107}
1072
. 910\—1% . i i i i i o swf
I r I r
x C @ X
09532 10 1 2 3 09532 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
n=
=)
i
o
o
o}
o10%
<
4

093 T 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


